rd Differential Calculus

Lab Assignment 9

Show All your work to receive Full credit.

5 marks) Use the definitions of hyperbolic functions to show that (sech z)’ = sech & tanh «

/3. (5 marks) Use a linear approximation to estimate (1.02)*3.

3. (5 marksa) Two sides of a triangle are 3 m and 7 m in length and the angle between
them is increasing at a rate of 0.05 rad/s. Find the rate at which the area of the
triangle is increasing when the angle between the sides of fixed length is 7/6.

4. (5 marks) A 1.4 m tall woman is walking away from a 2.8 m tall lamp post. If she is
walking at a rate of 1.2 m/s, at what rate is the length of her shadow increasing?

\ 57 (5 marks) Find the absolute maximum and absolute minimum values of the function
f(z) = z — 2tan™' z, on the interval [0,4].
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